== TR304E3 A 31 H BLE
FEHEAKE T — & (A) e

" Il 4 W% 4 il fro SEm) o BTk
REA I Bl | EATNG FE 4/100~4/500 400 @g@ﬁgﬂszﬂﬁmxa vhROL
AL BB FNK BT R~ #E Pisd== 18/100~18/300 200 ﬁéﬁ%gggﬁﬁmzmaﬂﬁmma) 503 EE?II
T4 ARFRAKHT T ffF 23/100~23/300 200 ﬁéﬁ%gfgﬂﬁmmzmﬁﬁmma) 503 EE?II
EX S 7 NIPN= R 24/700~25/700 1,000 | (ot i 11 Lot i) Jf? EE?II
oA~ s 16/900~47/300 400 | Gebhpi 11 Eo ) Sl
45 HH R 47/500~47/700 200 |(om it b FH ) Jf? EE?II
XA Peys 2/100~2/300 200 |Cm i Eos FH ) 50—) EE?II
E4 A Fif 2/300~2/700 400 %’ggﬁfﬁgﬂ:;aﬂﬁmxa vhROL
T4 e FE 2/700~2/900 200 @Eﬁ?@éﬁﬁmﬁmm v MROT
GE A RO L T Eo sk | L
LS T T IS HR 23/100~23/300 o e — fj{)??é? II
11 \LEE T T HE R~ R B 23/500~24/400 g [ R —— JE?EE? II




TRk 304E3 A 31 H HTE
5 )1 K R

ks B KBt T —Fa 3k (A)

&5 R o4 | W4 W% 4 il fro SEm) o BTk
12 | peam | sl |EadEs e fi 2/100~2/300 N [ L aaa— e
13 T4 T LD 1/700~1/900 200 |(smir e Lo FH ) Jf? EE?II
1 4 T~ Fift 2/100~2/500 R [ e e — S
15 REA IR BREN | REATAN B~ I FEfF 5/100~5/700 54l i(%%.’%z‘jiﬁ%)lI*ﬁ%ﬁﬂ’ﬁ%b:;éﬁ%ﬁﬂ‘ﬁ) Jf? EE?II
16 REA TR AT P et 5/700~7/400 1700 | et 1ot P ) Jf? EE?II
17 Gt I MY et 8/600~9/000 400 | (oA T K T ) 50—) EE?II
18 ESHU TRty NN FEfE 9/700~9/900 200 %ﬁ?ﬁéﬁﬁﬁﬁ%mia:;a%ﬁf?ﬁ%ﬁﬁﬁ) Jf? EE?II
19 AU TR BT T ffF 10/100~10/120 e F A T— L
20 REATT AT A I A 5/300~1/300 2,000 t(%%ﬁ%ﬁﬂmc:mmﬁm'ﬁ) 30—) EE? II
21 S TN BT FH AR 8/500~8/700 200 t(%%ﬁ%ﬁzﬁz%c:mmﬁm'ﬁ) 30—) EE? II
22 G Uh TN RT A 9/588~9/658 (O F AT — L
23 | REAIR STE] DT S og 3 53 s 7/700~1/900 200 | Gesntio 1ok R ) 522%% II

2t 23 10,431




s TAR3043 A 31 B HLLE
Fa7i (A) 510 )1 e 5

E YN
iz

[ JEF=(m) i % KBk

11 4 W% 4 il
A5)1| pisy== 6 2,400
i 5 1,900
FARAI Pis== 1 200
i 2 600
AR pisyo 0 0
HiF 0 0
Z=L ol iy 0 0
HiF 0 0
AN pisy== 5 2,861
i 3 2,270
B Pis== 1 200
HiF 0 0
I Vsl == 0 0
HiF 0 0
R 13 5,661
HiF 10 4,770
23 10,431




FeAs TR304E3 H 31 F BLE

B BEK B 1E Py
A

[ JEF=(m) {5 % KBk

w4 | W4 Wk 4 il
EA4T S )11 4 1,200
BARA 3 800
ARZE 0 0
FzKHT At )11 3 1,400
e At )11 2 1,100
Z=L ol 0 0
il 0 0
SELE - -
I 0 0
ESpinin) A5 )11 2 600
il 5 890
SRV 1 200
I 0 0
REASTH =l 3 4,241
23 10,431




